L.O. | am learning to divide 2-digits by 1-digit (remainders).

Use the number line to use repeated subtraction to complete the division calculations. Remember to look out for remainders!

The first one has been done for you.

11+5=

We are dividing by 5 which means we are going to count backwards in 5s!

5 -5

¢ 1 1T 3 % % & 7 % 7 101U

Now, to work out our answer we have to count how many full jumps of 5 we did. We did 2!
And how many have we got left over? 1!

So, our answer is 2 remainder 1

11+5=2r1
11+2=
——hp—h—p———5—0—0—0—0-
60 1 1 3 1 5 & 7 2 9 0 U
11+10=

——h—h——h—h————0—0
¢ I T 3 1 5% & 7 % 9 01U



ANSWERS . L.O. | am learning to divide 2-digits by 1-digit (remainders).

Use the number line to use repeated subtraction to complete the division calculations. Remember to look out for remainders!

The first one has been done for you.

11+5=

We are dividing by 5 which means we are going to count backwards in 5s!

-5 -5

¢ 1 1T 3 % % & 7 % 7 101U

Now, to work out our answer we have to count how many full jumps of 5 we did. We did 2!
And how many have we got left over? 1!

So, our answer is 2 remainder 1

11+5=2r1
11+2=5r1
i) -2 -2 -2 -2
0 + 1 3 %4 5 & 7 8 9 B U
-10
11+10=1r1

¢ I T 3 1 5% & 7 % 9 01U



